

County Distribution Detail Report through 05/02/2019

Aurora

Reporting Period 3/2019	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge \$3,848.75	Admin Fee \$82.34	Net Surcharge \$3,766.41	Entity Percent	Entity Amount \$2,636.49
3,23 13	.,	.,555	.0	3,0.0	φο,οιοιιο	ψο			
							Entity Tota		\$2,636.49
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$2,636.49
Beadle									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	3	0	0	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
3/2019	4,060	10,377	290	14,727	\$18,408.75	\$387.08	\$18,021.67	0.70	\$12,615.17
5/2018	3	0	0	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
6/2018	3	0	0	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
7/2018	3	0	0	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
8/2018	3	0	0	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
9/2018	3	0	0	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
10/2018	3	0	0	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
							Entity Tota	l:	\$12,633.58
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$12,633.58
Bennett									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2019	934	1,077	3	2,014	\$2,517.50	\$58.41	\$2,459.09	0.70	\$1,721.36
							Entity Tota	l:	\$1,721.36
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$1,721.36

Bon Homme

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2019	2,178	3,812	11	6,001	\$7,501.25	\$151.91	\$7,349.34	0.70	\$5,144.54
							Entity Total	:	\$5,144.54
							Adjustment	:	\$0.00
							Total Amou	nt:	\$5,144.54
Brookings									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	2	0	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
3/2019	10,981	20,417	211	31,609	\$39,511.25	\$831.15	\$38,680.10	0.70	\$27,076.07
							Entity Total	:	\$27,077.82
							Adjustment	:	\$0.00
							Total Amou	nt:	\$27,077.82
Brown									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	3	0	0	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
3/2019	10,329	26,023	245	36,597	\$45,746.25	\$964.56	\$44,781.69	0.70	\$31,347.18
5/2018	4	0	0	4	\$5.00	\$0.00	\$5.00	0.70	\$3.50
6/2018	4	0	0	4	\$5.00	\$0.00	\$5.00	0.70	\$3.50
7/2018	4	0	0	4	\$5.00	\$0.00	\$5.00	0.70	\$3.50
8/2018	4	0	0	4	\$5.00	\$0.00	\$5.00	0.70	\$3.50
9/2018	4	0	0	4	\$5.00	\$0.00	\$5.00	0.70	\$3.50
10/2018	4	0	0	4	\$5.00	\$0.00	\$5.00	0.70	\$3.50
							Entity Total	:	\$31,370.81
							Adjustment	:	\$0.00
							Total Amou	nt:	\$31,370.81
Brule									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2019	2,393	3,596	7	5,996	\$7,495.00	\$97.87	\$7,397.13	0.70	\$5,177.99
							Entity Total	:	\$5,177.99
							Adjustment	:	\$0.00
							Total Amou	nt:	\$5,177.99

Buffalo

Reporting Peri	od Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2019	571	439	2	1,012	\$1,265.00	\$11.40	\$1,253.60	0.70	\$877.52
							Entity Tota	al:	\$877.52
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$877.52
Butte									
Reporting Peri	od Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	1	0	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
3/2019	2,601	6,317	32	8,950	\$11,187.50	\$244.78	\$10,942.72	0.70	\$7,659.90
5/2018	1	0	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
6/2018	1	0	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
7/2018	1	0	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
8/2018	1	0	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
9/2018	1	0	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
10/2018	1	0	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
							Entity Tota	al:	\$7,666.06
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$7,666.06
Campbell									
Reporting Peri	od Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2019	724	1,400	7	2,131	\$2,663.75	\$53.35	\$2,610.40	0.70	\$1,827.28
							Entity Tota	al:	\$1,827.28
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,827.28
Charles Mix									
Reporting Peri	od Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2019	2,775	5,360	18	8,153	\$10,191.25	\$177.75	\$10,013.50	0.70	\$7,009.45
							Entity Tota	nl:	\$7,009.45
							Adjustmer	nt:	\$0.00

Total Amount:	\$7,009.45

City	of	Box	Elder,	Meade	Co
------	----	-----	--------	-------	----

,									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2019	29	2,404	0	2,433	\$3,041.25	\$62.51	\$2,978.74	0.70	\$2,085.12
							Entity Tota	l:	\$2,085.12
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$2,085.12
City of North Sioux	City, Un								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2019	945	2,515	90	3,550	\$4,437.50	\$115.03	\$4,322.47	0.70	\$3,025.73
							Entity Tota	l:	\$3,025.73
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$3,025.73
City of Sioux Falls,	Lincoln								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	0	0	3	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
2/2019	0	0	3	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
3/2019	4,635	23,314	1,331	29,280	\$36,600.00	\$795.66	\$35,804.34	0.70	\$25,063.04
							Entity Tota	l:	\$25,068.30
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$25,068.30
Clark									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2019	1,386	2,343	14	3,743	\$4,678.75	\$97.07	\$4,581.68	0.70	\$3,207.18
8/2018	2	0	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
							Entity Tota	l:	\$3,208.93
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$3,208.93
Clay									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	1	0	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
3/2019	1,753	7,295	222	9,270	\$11,587.50	\$251.25	\$11,336.25	0.70	\$7,935.38
5/2018	2	0	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
6/2018	2	0	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
7/2018	2	0	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
9/2018	2	0	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
10/2018	2	0	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
							Entity Total	:	\$7,945.01
							Adjustment	:	\$0.00
							Total Amou	nt:	\$7,945.01
Codington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2019	7,813	18,553	546	26,912	\$33,640.00	\$718.10	\$32,921.90	0.70	\$23,045.33
							Entity Total	:	\$23,045.33
							Adjustment	:	\$0.00
							Total Amou	nt:	\$23,045.33
Corson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2019	1,347	606	6	1,959	\$2,448.75	\$50.46	\$2,398.29	0.70	\$1,678.80
							Entity Total	:	\$1,678.80
							Adjustment	:	\$0.00
							Total Amou	nt:	\$1,678.80
Custer									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2019	3,585	5,287	38	8,910	\$11,137.50	\$248.51	\$10,888.99	0.70	\$7,622.29
5/2018	1	0	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
6/2018	1	0	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
7/2018	1	0	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
8/2018	1	0	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
9/2018	1	0	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88

Entity Total:	\$7,626.69
Adjustment:	\$0.00
Total Amount:	\$7,626.69

Total Amount:

\$4,065.92

Davison

Davison									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	3	0	0	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
3/2019	5,365	13,644	167	19,176	\$23,970.00	\$496.57	\$23,473.43	0.70	\$16,431.40
5/2018	6	0	0	6	\$7.50	\$0.00	\$7.50	0.70	\$5.25
6/2018	6	0	0	6	\$7.50	\$0.00	\$7.50	0.70	\$5.25
7/2018	5	0	0	5	\$6.25	\$0.00	\$6.25	0.70	\$4.38
8/2018	5	0	0	5	\$6.25	\$0.00	\$6.25	0.70	\$4.38
9/2018	5	0	0	5	\$6.25	\$0.00	\$6.25	0.70	\$4.38
10/2018	5	0	0	5	\$6.25	\$0.00	\$6.25	0.70	\$4.38
							Entity Total	l:	\$16,462.05
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$16,462.05
Day									
Day Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
-	Telecom Lines	Wireless Lines		Total Lines	Surcharge \$7,090.00	Admin Fee \$144.13	Net Surcharge \$6,945.87		Entity Amount \$4,862.11
Reporting Period			Lines		_		_	Percent 0.70	-
Reporting Period			Lines		_		\$6,945.87	Percent 0.70	\$4,862.11
Reporting Period			Lines		_		\$6,945.87 Entity Total	Percent 0.70 I:	\$4,862.11 \$4,862.11
Reporting Period			Lines		_		\$6,945.87 Entity Total Adjustment	Percent 0.70 I:	\$4,862.11 \$4,862.11 \$0.00
Reporting Period 3/2019			Lines		_		\$6,945.87 Entity Total Adjustment	Percent 0.70 I:	\$4,862.11 \$4,862.11 \$0.00
Reporting Period 3/2019 Deuel	2,159	3,502	Lines 11 VOIP	5,672	\$7,090.00	\$144.13	\$6,945.87 Entity Total Adjustment Total Amou	Percent 0.70 I: t: Entity	\$4,862.11 \$4,862.11 \$0.00 \$4,862.11
Reporting Period 3/2019 Deuel Reporting Period	2,159 Telecom Lines	3,502 Wireless Lines	VOIP Lines	5,672 Total Lines	\$7,090.00 Surcharge	\$144.13 Admin Fee	\$6,945.87 Entity Total Adjustment Total Amou	Percent 0.70 I: t: Entity Percent 0.70	\$4,862.11 \$4,862.11 \$0.00 \$4,862.11 Entity Amount
Reporting Period 3/2019 Deuel Reporting Period	2,159 Telecom Lines	3,502 Wireless Lines	VOIP Lines	5,672 Total Lines	\$7,090.00 Surcharge	\$144.13 Admin Fee	\$6,945.87 Entity Total Adjustment Total Amou	Percent 0.70 I: t: Entity Percent 0.70 I:	\$4,862.11 \$4,862.11 \$0.00 \$4,862.11 Entity Amount \$4,065.92

Douglas

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2019	1,332	2,152	7	3,491	\$4,363.75	\$83.25	\$4,280.50	0.70	\$2,996.35

							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$2,996.35
Edmunds									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2019	1,355	2,890	17	4,262	\$5,327.50	\$107.97	\$5,219.53	0.70	\$3,653.67
							Entity Tota	l:	\$3,653.67
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$3,653.67
Fall River									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2019	3,505	4,404	21	7,930	\$9,912.50	\$203.44	\$9,709.06	0.70	\$6,796.34
							Entity Tota	l:	\$6,796.34
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$6,796.34
Faulk									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2019	843	1,450	17	2,310	\$2,887.50	\$58.14	\$2,829.36	0.70	\$1,980.55
							Entity Tota	l:	\$1,980.55
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$1,980.55
Grant									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2019	2,287	5,180	20	7,487	\$9,358.75	\$191.13	\$9,167.62	0.70	\$6,417.33
5/2018	1	0	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
6/2018	1	0	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
7/2018	1	0	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
8/2018	1	0	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
9/2018	1	0	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
10/2018	1	0	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88

Entity Total:

\$2,996.35

							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$6,422.61
Gregory									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2019	1,928	3,411	17	5,356	\$6,695.00	\$145.05	\$6,549.95	0.70	\$4,584.97
							Entity Tota	al:	\$4,584.97
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$4,584.97
Haakon									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2019	1,080	1,396	5	2,481	\$3,101.25	\$62.15	\$3,039.10	0.70	\$2,127.37
							Entity Tota	al:	\$2,127.37
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$2,127.37
Hamlin									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2019	1,722	3,640	8	5,370	\$6,712.50	\$134.97	\$6,577.53	0.70	\$4,604.27
							Entity Total	al:	\$4,604.27
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$4,604.27
Hand									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	3	0	0	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
3/2019	1,167	2,638	13	3,818	\$4,772.50	\$104.36	\$4,668.14	0.70	\$3,267.70
5/2018	6	0	0	6	\$7.50	\$0.00	\$7.50	0.70	\$5.25
6/2018	6	0	0	6	\$7.50	\$0.00	\$7.50	0.70	\$5.25
7/2018	6	0	0	6	\$7.50	\$0.00	\$7.50	0.70	\$5.25
8/2018	4	0	0	4	\$5.00	\$0.00	\$5.00	0.70	\$3.50
9/2018	3	0	0	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63

Entity Total:

\$6,422.61

10/2018	3	0	0	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
							Entity Total	l:	\$3,294.84
							Adjustment	t:	\$0.00
							Total Amou	ınt:	\$3,294.84
Hanson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2019	962	2,965	24	3,951	\$4,938.75	\$103.58	\$4,835.17	0.70	\$3,384.62
							Entity Total	l:	\$3,384.62
							Adjustment	t:	\$0.00
							Total Amou	ınt:	\$3,384.62
Harding									
-									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2019	710	856	1	1,567	\$1,958.75	\$49.55	\$1,909.20	0.70	\$1,336.44
							Entity Total	ı .	\$1,336.44
							•		
							Adjustment	t:	\$0.00
							Total Amou	ınt:	\$1,336.44
Hughes							Total Amou	ınt:	\$1,336.44
Hughes Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Total Amou	entity Percent	\$1,336.44 Entity Amount
-	Telecom Lines	Wireless Lines		Total Lines	Surcharge \$10.00	Admin Fee \$0.00		Entity	
Reporting Period			Lines		_		Net Surcharge	Entity Percent	Entity Amount
Reporting Period	8	0	Lines 0	8	\$10.00	\$0.00	Net Surcharge \$10.00	Entity Percent 0.70	Entity Amount \$7.00
Reporting Period 1/2019 3/2019	8 4,542	0 14,207	Lines 0 213	8 18,962	\$10.00 \$23,702.50	\$0.00 \$521.00	Net Surcharge \$10.00 \$23,181.50	Entity Percent 0.70 0.70	Entity Amount \$7.00 \$16,227.05
Reporting Period 1/2019 3/2019 5/2018	8 4,542 9	0 14,207 0	Lines 0 213 0	8 18,962 9	\$10.00 \$23,702.50 \$11.25	\$0.00 \$521.00 \$0.00	\$10.00 \$23,181.50 \$11.25	Entity Percent 0.70 0.70 0.70	\$7.00 \$16,227.05 \$7.88
Reporting Period 1/2019 3/2019 5/2018 6/2018	8 4,542 9 9	0 14,207 0 0	213 0 0	8 18,962 9 9	\$10.00 \$23,702.50 \$11.25 \$11.25	\$0.00 \$521.00 \$0.00 \$0.00	\$10.00 \$23,181.50 \$11.25 \$11.25	Entity Percent 0.70 0.70 0.70 0.70	\$7.00 \$16,227.05 \$7.88 \$7.88
Reporting Period 1/2019 3/2019 5/2018 6/2018 7/2018 8/2018 9/2018	8 4,542 9 9	0 14,207 0 0 0 0	0 213 0 0 0 0	8 18,962 9 9 9 8 8	\$10.00 \$23,702.50 \$11.25 \$11.25 \$11.25 \$10.00 \$10.00	\$0.00 \$521.00 \$0.00 \$0.00 \$0.00 \$0.00	\$10.00 \$23,181.50 \$11.25 \$11.25 \$11.25 \$10.00 \$10.00	Entity Percent 0.70 0.70 0.70 0.70 0.70 0.70 0.70 0.7	\$7.00 \$16,227.05 \$7.88 \$7.88 \$7.88 \$7.00
Reporting Period 1/2019 3/2019 5/2018 6/2018 7/2018 8/2018	8 4,542 9 9 9	0 14,207 0 0 0	213 0 0 0 0 0	8 18,962 9 9 9	\$10.00 \$23,702.50 \$11.25 \$11.25 \$11.25 \$10.00	\$0.00 \$521.00 \$0.00 \$0.00 \$0.00	\$10.00 \$23,181.50 \$11.25 \$11.25 \$11.25 \$10.00	Entity Percent 0.70 0.70 0.70 0.70 0.70	\$7.00 \$16,227.05 \$7.88 \$7.88 \$7.88 \$7.88
Reporting Period 1/2019 3/2019 5/2018 6/2018 7/2018 8/2018 9/2018	8 4,542 9 9 9 8 8	0 14,207 0 0 0 0	0 213 0 0 0 0	8 18,962 9 9 9 8 8	\$10.00 \$23,702.50 \$11.25 \$11.25 \$11.25 \$10.00 \$10.00	\$0.00 \$521.00 \$0.00 \$0.00 \$0.00 \$0.00	\$10.00 \$23,181.50 \$11.25 \$11.25 \$11.25 \$10.00 \$10.00	Entity Percent 0.70 0.70 0.70 0.70 0.70 0.70 0.70 0.7	\$7.00 \$16,227.05 \$7.88 \$7.88 \$7.88 \$7.00
Reporting Period 1/2019 3/2019 5/2018 6/2018 7/2018 8/2018 9/2018	8 4,542 9 9 9 8 8	0 14,207 0 0 0 0	0 213 0 0 0 0	8 18,962 9 9 9 8 8	\$10.00 \$23,702.50 \$11.25 \$11.25 \$11.25 \$10.00 \$10.00	\$0.00 \$521.00 \$0.00 \$0.00 \$0.00 \$0.00	\$10.00 \$23,181.50 \$11.25 \$11.25 \$11.25 \$10.00 \$10.00	Entity Percent	\$7.00 \$16,227.05 \$7.88 \$7.88 \$7.88 \$7.00 \$7.00
Reporting Period 1/2019 3/2019 5/2018 6/2018 7/2018 8/2018 9/2018	8 4,542 9 9 9 8 8	0 14,207 0 0 0 0	0 213 0 0 0 0	8 18,962 9 9 9 8 8	\$10.00 \$23,702.50 \$11.25 \$11.25 \$11.25 \$10.00 \$10.00	\$0.00 \$521.00 \$0.00 \$0.00 \$0.00 \$0.00	\$10.00 \$23,181.50 \$11.25 \$11.25 \$11.25 \$10.00 \$10.00 \$10.00	Entity Percent 0.70 0.70 0.70 0.70 0.70 0.70 0.70 1:	\$7.00 \$16,227.05 \$7.88 \$7.88 \$7.88 \$7.00 \$7.00 \$7.00

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2019	3,160	5,013	49	8,222	\$10,277.50	\$224.68	\$10,052.82	0.70	\$7,036.97
							Entity Total	:	\$7,036.97
							Adjustment	t:	\$0.00
							Total Amou	int:	\$7,036.97
Hyde									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2019	684	1,059	5	1,748	\$2,185.00	\$44.44	\$2,140.56	0.70	\$1,498.39
							Entity Total	l:	\$1,498.39
							Adjustment	::	\$0.00
							Total Amou	ınt:	\$1,498.39
Jackson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity	Entity Amount
3/2019	688	835	Lines 4	1,527	\$1,908.75	\$38.29	\$1,870.46	Percent 0.70	\$1,309.32
							Entity Total	l:	\$1,309.32
							Adjustment	::	\$0.00
							Total Amou	ınt:	\$1,309.32
Jerauld									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2019	887	1,249	5	2,141	\$2,676.25	\$54.85	\$2,621.40	0.70	\$1,834.98
							Entity Total	l:	\$1,834.98
							Adjustment	::	\$0.00
							Total Amou	ınt:	\$1,834.98
Jones									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2019	577	672	3	1,252	\$1,565.00	\$31.39	\$1,533.61	0.70	\$1,073.53
							Entity Total	:	\$1,073.53
							Adjustment	t:	\$0.00
							Total Amou	int:	\$1,073.53

Kingsbury

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	2	0	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
3/2019	1,349	3,936	51	5,336	\$6,670.00	\$136.98	\$6,533.02	0.70	\$4,573.11
5/2018	3	0	0	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
6/2018	3	0	0	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
7/2018	3	0	0	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
8/2018	3	0	0	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
9/2018	3	0	0	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
10/2018	2	0	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
							Entity Tota	l:	\$4,589.76
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$4,589.76
Lake									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2019	2,821	9,015	70	11,906	\$14,882.50	\$311.18	\$14,571.32	0.70	\$10,199.92
							Entity Tota	l:	\$10,199.92
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$10,199.92
Lawrence									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	3	0	0	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
3/2019	8,031	16,383	176	24,590	\$30,737.50	\$636.26	\$30,101.24	0.70	\$21,070.87
5/2018	3	0	0	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
6/2018	3	0	0	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
7/2018	3	0	0	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
8/2018	3	0	0	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
9/2018	3	0	0	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
10/2018	2	0	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
							Entity Tota	l:	\$21,088.40
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$21,088.40

Lincoln

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	6	0	0	6	\$7.50	\$0.00	\$7.50	0.70	\$5.25
3/2019	4,334	22,606	1,497	28,437	\$35,546.25	\$777.66	\$34,768.59	0.70	\$24,338.01
5/2018	6	0	0	6	\$7.50	\$0.00	\$7.50	0.70	\$5.25
6/2018	6	0	0	6	\$7.50	\$0.00	\$7.50	0.70	\$5.25
7/2018	6	0	0	6	\$7.50	\$0.00	\$7.50	0.70	\$5.25
8/2018	6	0	0	6	\$7.50	\$0.00	\$7.50	0.70	\$5.25
9/2018	6	0	0	6	\$7.50	\$0.00	\$7.50	0.70	\$5.25
10/2018	6	0	0	6	\$7.50	\$0.00	\$7.50	0.70	\$5.25
							Entity Tota	ıl:	\$24,374.76
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$24,374.76
Lyman									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2019	1,212	1,785	76	3,073	\$3,841.25	\$85.69	\$3,755.56	0.70	\$2,628.89
5/2018	1	0	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
							Entity Tota	ıl:	\$2,629.77
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$2,629.77
Marshall									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2019	1,783	2,762	9	4,554	\$5,692.50	\$117.79	\$5,574.71	0.70	\$3,902.30
							Entity Tota	ıl:	\$3,902.30
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$3,902.30
McCook									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2019	2,361	4,159	10	6,530	\$8,162.50	\$164.24	\$7,998.26	0.70	\$5,598.78
							Entity Tota	ıl:	\$5,598.78

Adjustment:	\$0.00
Total Amount:	\$5,598.78

0.70

\$2,245.62

\$3,208.03

M	сΡ	he	ers	0	n
---	----	----	-----	---	---

3/2019

1,032

1,584

3

2,619

\$3,273.75

\$65.72

Wici fierson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2019	1,016	1,523	4	2,543	\$3,178.75	\$75.35	\$3,103.40	0.70	\$2,172.38
							Entity Tota	l:	\$2,172.38
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$2,172.38
Meade									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	2	0	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
3/2019	3,850	16,903	251	21,004	\$26,255.00	\$559.58	\$25,695.42	0.70	\$17,986.79
5/2018	2	0	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
6/2018	2	0	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
7/2018	2	0	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
8/2018	2	0	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
9/2018	2	0	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
10/2018	2	0	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
							Entity Tota	l:	\$17,999.04
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$17,999.04
Mellette									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2019	634	673	0	1,307	\$1,633.75	\$32.69	\$1,601.06	0.70	\$1,120.74
							Entity Total	l:	\$1,120.74
							Adjustmen	t:	\$0.00
							Total Amou	int:	\$1,120.74
Miner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

Entity Total:	\$2,245.62
Adjustment:	\$0.00
Total Amount:	\$2,245.62

\$0.00

\$166,313.46

\$5,197.21

Adjustment:

Total Amount:

Total Amount:

Minnehaha

F	Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1	/2019	76	0	4	80	\$100.00	\$0.00	\$100.00	0.70	\$70.00
2	2/2019	0	0	4	4	\$5.00	\$0.00	\$5.00	0.70	\$3.50
3	/2019	45,179	146,033	2,366	193,578	\$241,972.50	\$5,130.62	\$236,841.88	0.70	\$165,789.32
5	5/2018	89	0	0	89	\$111.25	\$0.00	\$111.25	0.70	\$77.88
6	5/2018	89	0	0	89	\$111.25	\$0.00	\$111.25	0.70	\$77.88
7	//2018	86	0	0	86	\$107.50	\$0.00	\$107.50	0.70	\$75.25
8	/2018	84	0	0	84	\$105.00	\$0.00	\$105.00	0.70	\$73.50
g	/2018	84	0	0	84	\$105.00	\$0.00	\$105.00	0.70	\$73.50
1	0/2018	83	0	0	83	\$103.75	\$0.00	\$103.75	0.70	\$72.63
								Entity Tota	al:	\$166,313.46

Moody

Entity Amount	Entity Percent	Net Surcharge	Admin Fee	Surcharge	Total Lines	VOIP Lines	Wireless Lines	Telecom Lines	Reporting Period
\$5,197.21	0.70	\$7,424.58	\$176.67	\$7,601.25	6,081	27	4,564	1,490	3/2019
\$5,197.21	l:	Entity Total							
\$0.00	t:	Adjustment							

Pennington

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	21	0	0	21	\$26.25	\$0.00	\$26.25	0.70	\$18.38
3/2019	26,479	76,629	2,176	105,284	\$131,605.00	\$2,808.82	\$128,796.18	0.70	\$90,157.33
5/2018	28	0	0	28	\$35.00	\$0.00	\$35.00	0.70	\$24.50
6/2018	28	0	0	28	\$35.00	\$0.00	\$35.00	0.70	\$24.50
7/2018	25	0	0	25	\$31.25	\$0.00	\$31.25	0.70	\$21.88
8/2018	24	0	0	24	\$30.00	\$0.00	\$30.00	0.70	\$21.00
9/2018	26	0	0	26	\$32.50	\$0.00	\$32.50	0.70	\$22.75
10/2018	25	0	0	25	\$31.25	\$0.00	\$31.25	0.70	\$21.88

							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$90,312.22
Perkins									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2019	1,752	2,293	6	4,051	\$5,063.75	\$111.26	\$4,952.49	0.70	\$3,466.74
							Entity Tota	l:	\$3,466.74
							Adjustmen	t:	\$0.00
							Total Amou		\$3,466.74
Potter									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2019	1,186	1,737	7	2,930	\$3,662.50	\$74.13	\$3,588.37	0.70	\$2,511.86
							Entity Tota	l:	\$2,511.86
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$2,511.86
Roberts									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2019	3,603	4,853	16	8,472	\$10,590.00	\$234.49	\$10,355.51	0.70	\$7,248.86
							Entity Tota	l:	\$7,248.86
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$7,248.86
Sanborn									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	2	0	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
3/2019	855	1,782	10	2,647	\$3,308.75	\$66.51	\$3,242.24	0.70	\$2,269.57
5/2018	2	0	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
6/2018	2	0	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
7/2018	2	0	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
8/2018	2	0	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
9/2018	2	0	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75

Entity Total:

\$90,312.22

10/2018	2	0	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
							Entity Tota	l:	\$2,281.82
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$2,281.82
Spink									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	1	0	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
3/2019	2,007	4,560	21	6,588	\$8,235.00	\$171.50	\$8,063.50	0.70	\$5,644.45
5/2018	1	0	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
6/2018	1	0	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
8/2018	1	0	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
9/2018	1	0	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
10/2018	1	0	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
							Entity Tota	l:	\$5,649.73
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$5,649.73
Stanley									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	1	0	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
3/2019	735	2,146	14	2,895	\$3,618.75	\$75.70	\$3,543.05	0.70	\$2,480.14
5/2018	1	0	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
6/2018	3	0	0	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
7/2018	3	0	0	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
8/2018	2	0	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
9/2018	2	0	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
10/2018	2	0	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
							Entity Tota	l:	\$2,492.41
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$2,492.41
Sully									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2019	697	1,158	4	1,859	\$2,323.75	\$46.54	\$2,277.21	0.70	\$1,594.05

							Entity Total:		\$1,594.05
							Adjustment:		\$0.00
							Total Amour	t:	\$1,594.05
Todd									
Reporting Period	Telecom Lines	Wireless Lines	VOIP	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity	Entity Amount
3/2019	0	50	Lines 3	53	\$66.25	\$10.08	\$56.17	Percent 0.70	\$39.32
							Entity Total:		\$39.32
							Adjustment:		\$0.00
							Total Amour	it:	\$39.32
Tripp									
Tripp Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
	Telecom Lines	Wireless Lines		Total Lines	Surcharge \$8,262.50	Admin Fee \$167.58	Net Surcharge \$8,094.92	-	Entity Amount \$5,666.44
Reporting Period			Lines		_		_	Percent 0.70	-
Reporting Period			Lines		_		\$8,094.92	Percent 0.70	\$5,666.44
Reporting Period			Lines		_		\$8,094.92 Entity Total:	Percent 0.70	\$5,666.44 \$5,666.44

							Entity Tota	l:	\$39.32
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$39.32
Tripp									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2019	2,718	3,887	5	6,610	\$8,262.50	\$167.58	\$8,094.92	0.70	\$5,666.44
							Entity Tota	l:	\$5,666.44
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$5,666.44
Turner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2019	2,327	6,138	18	8,483	\$10,603.75	\$213.58	\$10,390.17	0.70	\$7,273.12
							Entity Tota	l:	\$7,273.12
							Adjustmen	t:	\$0.00
							Total Amount:		\$7,273.12
Union									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2019	3,298	11,007	590	14,895	\$18,618.75	\$439.51	\$18,179.24	0.70	\$12,725.47
							Entity Tota	l:	\$12,725.47
							Adjustmen	t:	\$0.00
							Total Amount:		\$12,725.47
Walworth									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

3/2019	2,181	3,570	71	5,822	\$7,277.50	\$147.35	\$7,130.15	0.70	\$4,991.11
							Entity Total:		\$4,991.11
							Adjustment:		\$0.00
							Total Amount:		\$4,991.11
Yankton									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2019	1	0	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
3/2019	5,445	15,587	223	21,255	\$26,568.75	\$547.43	\$26,021.32	0.70	\$18,214.92
							Entity Total:		\$18,215.80
							Adjustment:		\$0.00
							Total Amount	t:	\$18,215.80
Totals	226 501	594 205	11 422	922 249	¢ 1 027 907 50	¢ 21 700 59	\$ 1,006,187,02		
Totals	226,501	584,395	11,422	822,318	\$ 1,027,897.50	\$ 21,709.58	\$ 1,006,187.92		